Northcott et al. Supplementary Figure 5.

A

»

K
=
£
<
»

samples

samples

samples

»

2
[
£
<
»

samples

=2

samples
Cophenetic coef.= 0.9968

k=6

samples
Cophenetic coef.= 0.9443

k=2

samples
Cophenetic coef.= 0.9979

k=6

samples
Cophenetic coef.= 0.9462

k=2

samples
Cophenetic coef.= 0.9997

k=6

samples
Cophenetic coef.= 0.9429

»

Q2
=
S
I
»

samples

1]
£
o
£
<
2]

samples

0

K
[
£
IS
»

samples

=3

samples
Cophenetic coef.= 0.9419

k=7

samples
Cophenetic coef.= 0.95

k=3

samples
Cophenetic coef.= 0.918

k=7

samples
Cophenetic coef.= 0.949

k=3

samples
Cophenetic coef.= 0.9193

k=7

samples
Cophenetic coef.= 0.9425

»

2
o
€
<
»

samples

Cophenetic correlation

0
2
=3
£
<
0

samples

Cophenetic correlation

o«

2
=%
€
<
»

samples

Cophenetic correlation

=4

samples
Cophenetic coef.= 0.9768

k=8

samples
Cophenetic coef.= 0.9431

k=4

samples
Cophenetic coef.= 0.9707

k=8

samples
Cophenetic coef.= 0.9489

k=4

samples
Cophenetic coef.= 0.9697

k=8

samples
Cophenetic coef.= 0.9477

samples

0
L
=%
£
<
w

samples

0.94 1.00

0.88

0.95

0.85

IS
©
o
= o
[
~
[

0.95

0.85

N
%)
»
= (&1
)
~
®

k=5

samples
Cophenetic coef.= 0.9585

Cophenetic Coefficient

B

=5

samples
Cophenetic coef.= 0.9527

Cophenetic Coefficient

k=5

samples
Cophenetic coef.= 0.9481

Cophenetic Coefficient



